Summary Figure 1.

Effects of the Policy Options on the OASDI Trust Fund Actuarial Balance

Increase the Payroll Tax Rate by 1 Percentage Point in 2012 Change the
Increase the Payroll Tax Rate by 2 Percentage Points Over 20 Years 0.6 Taxation of
Earnings

Increase the Payroll Tax Rate by 3 Percentage Points Over 60 Years
Eliminate the Taxable Maximum
Raise the Taxable Maximum to Cover 90% of Earnings

0.6

Tax Covered Earnings Above the Taxable Maximum; Do Not Increase Benefits 0.9
Tax Covered Earnings Up to $250,000; Do Not Increase Benefits
Tax All Earnings Above the Taxable Maximum at 4%; Do Not Increase Benefits
Tax All Earnings Above $250,000 at 4%; Do Not Increase Benefits
Raise from 35 to 38 the Years of Earnings Included in the AIME Change the

Index Earnings in the AIME Formula to Prices Benefit Formula

Reduce All PIA Factors by 15%
Reduce the Top Two PIA Factors by Roughly One-Third
Reduce the Top PIA Factor by One-Third
Reduce All PIA Factors by 0.5% Annually
Index Initial Benefits to Changes in Longevity
Reduce PIA Factors to Index Initial Benefits to Prices Rather Than Earnings 1.0
Lower Initial Benefits for the Top 70% of Earners
Lower Initial Benefits for the Top 50% of Earners
Index the Bend Points in the PIA Formula to Prices
Index Earnings in the AIME and Bend Points in the PIA Formula to Prices 0.6
Replace the Current PIA Formula with a New Two-Part Formula
Modify the Special Minimum Benefit and Index It to Growth in Earnings -0.2 Increase Benefits
Introduce a New Poverty-Related Minimum Benefit for Low Earners
Enhance Low-Earners' Benefits on the Basis of Years Worked -0.3
Raise the FRA to 68
Raise the FRA to 70
Index the FRA to Changes in Longevity
Reduce COLAs by 0.5 Percentage Points

Base COLAs on the Chained CPI-U

Raise the Full
Retirement Age

0.3 Reduce Cost-of-Living
Adjustments

Source: Congressional Budget Office.

Notes: The actuarial balance is the present value of revenues plus the OASDI trust fund balance at the beginning of 2010, minus the present
value of outlays from 2010 to 2084, minus a year’s worth of benefits as a reserve at the end of the period, expressed as a percentage
of the present value of GDP over the period.

The AIME for a retired worker who reaches age 62 after 1990 is calculated on the highest 35 years of earnings on which that worker
paid Social Security taxes (up to the taxable maximum, $106,800 in 2010). Earnings before age 60 are indexed to compensate for
inflation and for real (inflation-adjusted) growth in wages; earnings after age 59 enter the computations at nominal values. Dividing
total earnings by 420 (35 years times 12 months) yields the AIME.

The PIA is the monthly payment to a worker who begins receiving retirement benefits at the full retirement age or to a disabled
worker who has never received a retirement benefit reduced for age. For workers who turn 62, become disabled, or die in 2010 (for
calculation of survivor benefits), the PIA formula is 90 percent of the first $761 of the AIME plus 32 percent of the AIME between
$761 and $4,586 plus 15 percent of the AIME over $4,586. Those percentages constitute the PIA factors.

A COLA is an annual increase in benefits indexed to consumer prices. Under current law, the COLA equals the percentage increase in
the CPI-W; the chained CPI-U is an alternative measure of inflation.

OASDI = Old-Age, Survivors, and Disability Insurance; GDP = gross domestic product; AIME = average indexed monthly earnings;
PIA = primary insurance amount; FRA = full retirement age; COLA = cost-of-living adjustment; CPI-W = consumer price index
for all urban wage earners and clerical workers; chained CPI-U = chained CPI for all urban consumers; * = between -0.05 and
0.05 percentage points.



